
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

8.265 × ________ = 826.5 1.286 × ________ = 1286

7.809 × ________ = 78.09 9.431 × ________ = 943.1

10.236 × ________ = 102.36 7.814 × ________ = 78.14

4.531 × ________ = 453.1 3.447 × ________ = 344.7

6.887 × ________ = 688.7 7.255 × ________ = 725.5

3.838 × ________ = 38.38 4.369 × ________ = 4369

7.463 × ________ = 7463 10.571 × ________ = 10571

10.147 × ________ = 1014.7 1.723 × ________ = 17.23

5.036 × ________ = 50.36 10.782 × ________ = 1078.2

1.996 × ________ = 199.6 10.518 × ________ = 1051.8
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

8.265 × 100 = 826.5 1.286 × 1000 = 1286

7.809 × 10 = 78.09 9.431 × 100 = 943.1

10.236 × 10 = 102.36 7.814 × 10 = 78.14

4.531 × 100 = 453.1 3.447 × 100 = 344.7

6.887 × 100 = 688.7 7.255 × 100 = 725.5

3.838 × 10 = 38.38 4.369 × 1000 = 4369

7.463 × 1000 = 7463 10.571 × 1000 = 10571

10.147 × 100 = 1014.7 1.723 × 10 = 17.23

5.036 × 10 = 50.36 10.782 × 100 = 1078.2

1.996 × 100 = 199.6 10.518 × 100 = 1051.8
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